GEMERAL IMFORMATION
OPEN CENTER
POWER CHUCKS
(KHC)

KHC 2-3-4 jaws
open center power
chuck.

Large through hole,
large stroke, high
speed.

Base jaw serration
1,5x60° and 3x60°.
Mounting 1SO-A.
All moving parts

made of alloyed
steel, hardened and
ground.

Standard
Accessories :
Mouinting bolts and
nuts.

CIMEMNSIONS
i Max. :
Flange| Thru- Clamping Area S Base Jaw [ Max. : Max. Workpiece
SIS S AL R [ Hole | Stroke |Stroke m Gripping Serrations| Speed RIS Weight
. 2 KH2 A5 6-46
6 3 KH3 A5 6-46 165 A5 46 5.8 13 149 11 6000 13 16.4
2 KH2 A6 8-52
8" 3 KH3 A6 8-52 210 A6 52 7.6 17 189 12 5000 23.5 29
4 KH4 A6 8-52
2 KH2 A8 10-75
10" 3 KH3 A8 10-75 254 A8 75 29 20 229 26 4000 38.5 49.4
4 KH4 A8 10-75
2 KH2 A8 12-85B
12" 3 KH3 A8 12-85B 305 A8 85 @9 20 275 40 3200 70 91.5
4 KH4 A8 12-85B
15" 3 KH3 A11 15-120 381 A1l 120 211.3 25 343 65 2500 124 174.5
18" 3 KH3 A1l 18-120 457 All 120 @11.3 25 412 70 2000 180 251




[
e
Il'_l
b i
o
i 0 e 5| kK = =
| | I
w
] ul_ | 1
| [=i]
o i l B
- —.—]
= [ | |
| i
| l |
L L
Figure 2 Figure 1
mm mm mm mm mm mmimmimmijimmjmm| mm mm mmjimmi{|mm mm
165 R 52.4 685 557 - @61 M52x1.5 17 135 M10 22 @46 32.5 29.6 M8x15
8" 1 210 R66.675 @106.375 - @66 M60x1.5 18.5 1.5 104 170 M12 25 17.5 @52 39.5 357 60 42 25 M8x15
10" 1 254 R857 @139.72 - @93 M78x1.5 26.5 6.5 123 225 M16 25 25 @75 52 47.5 80 44 30 M12x18
12" 2 305 R 95 ©139.72 @171.40 @102 M78x1.5 18 -2 135 230 M16 35 27 @85 60 555 85 54 45 M16x20
15" 1 381 R117.5 @196.87 - @114 M103x2 25 0 165 280 M20 40 35 (@120 79.5 74 100 65 60 M16x25
18" 1 457 R117.5 @196.87 - @140 M130x2 25 0 165 280 M20 40 35 @120 795 74 120 65 75 M16x25


http://www.komtas.com.tr/english/urunler/aynalar/khj.asp
http://www.komtas.com.tr/english/urunler/aynalar/ts.asp
http://www.komtas.com.tr/english/urunler/aynalar/af.asp
http://www.komtas.com.tr/english/urunler/aynalar/ha.asp

T1

T11

T14
5

T T3 T4 4

% .1 Figure 1 Figure 2 ‘3‘3' .y

Standard

T N K K Y

12

T2
fran\
g
frany

S
=

KSJ-06-K1-30 1 1.5x60°
8" KSJ-05-K1-35 1 1.5x60° 79 35 35 14 5 15 25 19 13 20 - - -
10" KSJ-10-K1-40 1 1.5x60° 110 40 40 16 6 30 30 19 13 27 - - -
12" KSJ-12-K2-50 1 1.5x60° 130 50 50 18 6 30 30 23 15 33 - - -
15" KSJ-15-K3-60 1 3x60° 140 60 60 22 8.5 30 50 32 22 41 - 35 9
High
Chuck
50 I I e 2 K ) D
KSJ-06-K1-40 1 1.5x60°
8" KSJ-08-K1-60 1 1.5x60° 79 35 60 14 5 15 25 19 13 45 - - -
8" KSJ-08-K1-80 1 1.5x60° 79 35 80 14 5 15 25 19 13 65 - - -
10" KSJ-10-K1-60 1 1.5x60° 110 40 60 16 6 30 30 19 13 47 - - -




10" KSJ-10-K1-80 1 1.5x60° 110 40 80 16 6 30 30 19 13 67 - - -

12" KSJ-12-K1-80 1 1.5x60° 130 50 80 18 6 30 30 23 15 63 - - -
12" KSJ-12-K1-100 1 1.5x60° 130 50 100 18 6 30 30 23 15 83 - - -
1.5x60° 3x60°

Detail of Serration K1 K2

Standard

N IS T I I 0 ) 2 3

KSJ-06-K1-30-2 2 1.5x60°
8" KSJ-08-K1-35-2 2 1.5x60° 79 35 35 14 5 15 25 19 13 20 12 = -
10" KSJ-10-K1-40-2 2 1.5x60° 110 40 40 16 6 30 30 19 13 27 15 - -
12" KSJ-12-K1-50-2 2 1.5x60° 130 50 50 18 6 30 30 23 15 33 15 - -
15" KSJ-15-K3-60-2 2 3x60° 140 60 60 22 8.5 30 50 32 22 41 20 35 9
High

N IS T I I 0 0 2 3

KSJ-06-K1-40-2 2 1.5x60°
8" KSJ-08-K1-60-2 2 1.5x60° 79 35 60 14 5 15 25 19 13 45 12 - -
8" KSJ-08-K1-80-2 2 1.5x60° 79 35 80 14 5 15 25 19 13 65 12 - -
10" KSJ-10-K1-60-2 2 1.5x60° 110 40 60 16 6 30 30 19 13 47 15 - -
10" KSJ-10-K1-80-2 2 1.5x60° 110 40 80 16 6 30 30 19 13 67 15 - -
12" KSJ-12-K1-80-2 2 1.5x60° 130 50 80 18 6 30 30 23 15 63 15 - -
12" KSJ-12-K1-100-2 2 1.5x60° 130 50 100 18 6 30 30 23 15 83 15 - -




Gripping Force (kM)

120

100

2o

G0

20

lq\?

F— 1 6-3-53

=

—— A3 ASl6-46

1000

2000

000

4000

S000 GO0

Speed {rpm)

Gripping Farce (kM)

150

150

120

o

Gl

30

-1':,’
X
b
‘\g\
42
E = *xi"'f
2N 1 4s.
oy Sdo
B S
ré‘ ]
W
o)
a00 1000 1600 2000 2500 3000 3500

Speed (rpm)


http://www.amedya.com.tr/

Ti1

~
i
Ao A A W g s r

ol 1 T13 T
T6_, 17 : Lo
! Sekil 1 sekil 2 ,Jr” -
i ),

] N
| @@ - D =
o 2 ""_"’:J'r"r Qﬂlf’f"' ] =1

L

Standard

Cgiuzcgk Order Code Fig. Seration T1 T2 T3 T4 T5 T6 T7 T9 T10 T11l T12 T13 T14
6" SK-06-B1-30 2 1.5x60° 72 30 30 12 5 15 20 17 11 20 12 - -
8" SK-08-B1-35 2 1.5x60° 95 35 3B 14 5 24 25 19 13 20 12 - -
10" SK-10-B1-40 2 1.5x60° 110 40 40 16 5 30 30 19 13 27 15 - -
12" SK-12-B1-50 2 15x60° 129 50 50 18 5 39 30 23 15 30 15 - -
15" SK-15-C1-60 1 15x60° 165 50 60 22 8 37 43 32 21 40 - 45 9

High

Chuck : :

Size Order Code Fig. Seration T1 T2 T3 T4 T5 T6 T7 T9 T10 T11 T12 T13 T14

6" SK-06-B1-40 1.5x60° 72 30 40 12
8" SK-08-B1-60 15x60° 95 35 60 14
8" SK-08-B1-80 15x60° 95 35 80 14

1 5 20 17 11 30 - - -
1
1
10" SK-10-B1-60 1 1.5x60° 110 40 60 16
1
1
1

24 25 19 13 45 - - -
24 25 19 13 65 - - -
30 30 19 13 47 - - -
30 30 19 13 67 - - -
39 30 23 15 60 - - -
39 30 2315 80 - - -

10" SK-10-B1-80 1.5x60° 110 40 80 16
12" SK-12-B1-80 1.5x60° 129 50 80 18
12" SK-12-B1-100 1.5x60° 129 50 100 18

o o1 o1 o1 o1 o1 O



	www.komtas.com.tr
	Komtaş Makina Sanayi ve Ticaret A.Ş.
	Standart




